


Definition





REMARK :
the series 1+m /1  +m2 /2  +…..=x=0m

x /x  converges for are 

values of m to e    

m>0, f(x)>=0  &  

x=0f(x)=x=0 (m x e-m)/x  = e-m x=0 (m x)/x 

= e-m (1+m /1  +m2 /2  +…..)

= e-m em =   1

i.e.)f(x) satisfies condition of being pdf of a discrete type of random 

variable.

The mgf of the poission distribution is given by   m(t)=E(etx)
= etx f(x)

=etx (me-m)/x 

= e-m  ((met)x)/x 

= e-m (1+m /1  +m2 /2  +…..)

= e-m emet  

= e-m (emt-1)

for all real values of t



m’(t)= em (emt-1)met

m’’(t)= em (emt-1)met + em (emt-1)(met)2

mean=m’(t)=m &   =m’’(t)- 2 =m+m2 -m2 =m 

i.e.) a poission distribution  has   ==m>0

the poission pdf is written as 

f(x)= µ x e-µ /x  ,x=0,1.2…..
=0         , elsewhere.







The end


